
AUDI 
 

 
 

100 / 100 Avant (43, C2)       06.1976 - 07.1982 
OEM Info F / R Type   Type F/ R Info OEM 

443 419 801 A with accessories   11000 11001   with accessories 443 419 802 A 

431 407 183 A for control arm   2003 2003   for control arm 431 407 183 A 
 

 

11000 11001 
 
 
 

 
2003 2003 

 

 
100 / 100 Avant (44, 44Q, C3)       08.1982 - 07.1991 

OEM Info F / R Type   Type F/ R Info OEM 

443 419 801 A with accessories   11000 11001   with accessories 443 419 802 A 

443 419 811 B Thread Size: M16x1,5 

Inner Thread: M16x1,5 mm 

with right-hand thread 

 

 
  

3018 
 

3017 
  

 
Thread Size: M16x1,5 

Inner Thread: M16x1,5 mm 

with right-hand thread 

443 419 812 B 

431 407 181 F for control arm   2387 2387   for control arm 431 407 181 F 

431 407 183 A for control arm   2003 2003   for control arm 431 407 183 A 

4A0 511 249 for drag link 

Mounting Type: Rubber-metal 

Bearing 

 

 
  

2389 
 

2389 
  

 
for drag link 

Mounting Type: Rubber-metal 

Bearing 

4A0 511 249 

443 505 351 P Control Arm 

with accessories 

Steel 

 

 
  

1018 
 

1019 
  

 
Control Arm 

with accessories 

Steel 

443 505 352 P 

443 511 523 B    2388 2388    443 511 523 B 

443 505 171 F Mounting Type: Rubber Bearing 

for drag link 

 

 
 2006 2006   

 
Mounting Type: Rubber Bearing 

for drag link 

443 505 171 F 

 
 

 

 

11000 11001 
 
 
 

3018 3017 
 
 
 

2387 2387 
 
 
 

2003 2003 

 
 

2389 2389 

1018 1019 



AUDI 
 

 
 

 

 

2388 2388 
 
 
 

 
2006 2006 
 

 
100 / 100 Avant (4A, C4)       12.1990 - 07.1994 

OEM Info F / R Type   Type F/ R Info OEM 

4A0 419 801 A with accessories   11002 11003   with accessories 4A0 419 802 A 

443 419 811 B Thread Size: M16x1,5 

Inner Thread: M16x1,5 mm 

with right-hand thread 

 

 
  

3018 
 

3017 
  

 
Thread Size: M16x1,5 

Inner Thread: M16x1,5 mm 

with right-hand thread 

443 419 812 B 

4A0 419 811 A  

 
with accessories 

 

 
 

 

  

 
3019 

 

 
3020 

  

 
 

 

Length: 74 mm 

Cone Size: 14 mm 

Thread Measurement 1: M18x1,5 

with accessories 

4A0 419 812 A 

4A0 407 151 Control Arm 

with rubber mounting 

Steel 

 

 
  

1020 
 

1021 
  

 
Control Arm 

with rubber mounting 

Steel 

4A0 407 152 

4A0 407 181    2007 2007    4A0 407 181 

4A0 407 183 C for control arm   2008 2008   for control arm 4A0 407 183 C 

4A0 511 249 for drag link 

Mounting Type: Rubber-metal 

Bearing 

 

 
  

2389 
 

2389 
  

 
for drag link 

Mounting Type: Rubber-metal 

Bearing 

4A0 511 249 

4A0 505 389 Suspension Rod   5451 5451   Suspension Rod 4A0 505 389 

443 505 351 P Control Arm 

with accessories 

Steel 

 

 
  

1018 
 

1019 
  

 
Control Arm 

with accessories 

Steel 

443 505 352 P 

443 511 523 B    2388 2388    443 511 523 B 
 

 

11002 11003 
 
 
 

3018 3017 

 
 

 

3019 3020 
 
 
 

1020 1021 
 
 
 

2007 2007 
 
 
 

2008 2008 

 

 

 

 

 

100 / 100 Avant (44, 44Q, C3) 08.1982 - 07.1991 



AUDI 
 

 

 
 

1018 1019 
 
 
 

 
2388 2388 

 

 
200 (43) / 200 / 200 Avant (44, 44Q)       10.1979 - 09.1982 

OEM Info F / R Type   Type F/ R Info OEM 

443 419 801 A with accessories   11000 11001   with accessories 443 419 802 A 

443 419 811 B Thread Size: M16x1,5 

Inner Thread: M16x1,5 mm 

with right-hand thread 

 

 
  

3018 
 

3017 
  

 
Thread Size: M16x1,5 

Inner Thread: M16x1,5 mm 

with right-hand thread 

443 419 812 B 

431 407 181 F for control arm   2387 2387   for control arm 431 407 181 F 

431 407 183 A for control arm   2003 2003   for control arm 431 407 183 A 

4A0 511 249 for drag link 

Mounting Type: Rubber-metal 

Bearing 

 

 
  

2389 
 

2389 
  

 
for drag link 

Mounting Type: Rubber-metal 

Bearing 

4A0 511 249 

443 505 351 P Control Arm 

with accessories 

Steel 

 

 
  

1018 
 

1019 
  

 
 

Control Arm 

with accessories 

Steel 

443 505 352 P 

443 505 171 F Mounting Type: Rubber Bearing 

for drag link 

 

 
 2006 2006   

 
Mounting Type: Rubber Bearing 

for drag link 

443 505 171 F 

 

 

11000 11001 

 

 

3018 3017 
 
 
 

2387 2387 
 
 
 

2003 2003 
 
 
 

2389 2389 

 
 

 

1018 1019 
 
 
 

 
2006 2006 

2389 2389 

5451 5451 



AUDI 
 

 

 
50 (86)        08.1974 - 07.1978 

OEM Info F / R Type   Type F/ R Info OEM 

811 419 812 Outer Thread: M14x1,5 mm 

with right-hand thread 

 

 
 3021 3021   

 
Outer Thread: M14x1,5 mm 

with right-hand thread 

811 419 812 

 

 

3021 3021 

 

 
80 (80, 82, B1)       05.1972 - 07.1978 

OEM Info F / R Type   Type F/ R Info OEM 

811 419 812 Outer Thread: M14x1,5 mm 

with right-hand thread 

 

 
 3021 3021   

 
Outer Thread: M14x1,5 mm 

with right-hand thread 

811 419 812 

 

 
3021 3021 
 

 
80 (8C, B4)        09.1991 - 12.1994 

OEM Info F / R Type   Type F/ R Info OEM 

811 419 801 E Adjustable   11005 11006   Adjustable 893 419 802 

811 419 802 K    11004 11004    811 419 802 K 

893 407 465 Suspension Rod 

Replace in pairs only: 

 

 
 5015 5015   

 
Suspension Rod 

Replace in pairs only: 

893 407 465 

811 419 812 A Inner Thread: M14x1,5 mm 

with right-hand thread 

 

 
 3022 3022   

 
Inner Thread: M14x1,5 mm 

with right-hand thread 

811 419 812 A 

893 407 365 B with accessories 

With oval flange boreholes 

 

 
 4224 4225   

 
with accessories 

With oval flange boreholes 

893 407 366 B 

895 407 365 A with accessories   4012 4226   with accessories 895 407 366 A 

895 407 147 A Control Arm 

without ball joint, with rubber 

mounting 

only with: 10053 

Sheet Steel 

 

 
 

 

  

 
1025 

 

 
1026 

  

 
 

 

Control Arm 

without ball joint, with rubber 

mounting 

only with: 10054 

Sheet Steel 

895 407 148 A 

893 407 181    2011 2011    893 407 181 

8A0 511 247 B Mounting Type: Rubber-metal 

Bearing 

for control arm 

 

 
  

2012 
 

2012 
  

 
Mounting Type: Rubber-metal 

Bearing 

for control arm 

8A0 511 247 B 

8A0 505 465 C Suspension Rod 

Steel 

Replace in pairs only: 

 

 
  

5017 
 

5018 
  

 
 

Suspension Rod 

Steel 

Replace in pairs only: 

8A0 505 466 C 

8A0 501 530 B Control Arm   1024 1024   Control Arm 8A0 501 530 B 

811 407 181    2009 2009    811 407 181 

857 407 181    2010 2010    857 407 181 
 

11005 11006 

 

 

11004 11004 
 
 
 

5015 5015 
 
 
 

3022 3022 
 
 
 

4224 4225 
 
 
 



AUDI 
 

 

 

4012 4226 
 
 
 

1025 1026 

 

 

 

2011 2011 
 
 
 

2012 2012 

 
 

 

5017 5018 
 
 

1024    
                                               

   1024 

 
2009 2009 

 
 
 

 
2010 2010 

 

 
80 / 90 (81, 85, B2)        - 

OEM Info F / R Type   Type F/ R Info OEM 

811 419 801 E Adjustable   11005 11006   Adjustable 893 419 802 

811 419 802 K    11004 11004    811 419 802 K 

811 419 812 A Inner Thread: M14x1,5 mm 

with right-hand thread 

 

 
 3022 3022   

 
Inner Thread: M14x1,5 mm 

with right-hand thread 

811 419 812 A 

811 419 812 Outer Thread: M14x1,5 mm 

with right-hand thread 

 

 
 3021 3021   

 
Outer Thread: M14x1,5 mm 

with right-hand thread 

811 419 812 

857 505 365 with accessories   4005 4005   with accessories 857 505 365 

811 407 181    2009 2009    811 407 181 

857 407 181    2010 2010    857 407 181 
 

11005 11006 
 
 

11004                                                                                                                             11004 

 
3022 3022 

 
 
 

3021 3021 



AUDI 
 

 
 

 

 
4005 4005 

 
 
 

2009 2009 
 
 
 

 
2010 2010 

 

 
80 / 90 (89, 89Q, 8A, B3)       06.1986 - 10.1991 

OEM Info F / R Type   Type F/ R Info OEM 

811 419 801 E Adjustable   11005 11006   Adjustable 893 419 802 

811 419 802 K    11004 11004    811 419 802 K 

893 407 465 Suspension Rod 

Replace in pairs only: 

 

 
 5015 5015   

 
Suspension Rod 

Replace in pairs only: 

893 407 465 

811 419 812 A Inner Thread: M14x1,5 mm 

with right-hand thread 

 

 
 3022 3022   

 
Inner Thread: M14x1,5 mm 

with right-hand thread 

811 419 812 A 

855 407 365 with accessories 

With round flange boreholes 

 

 
 4009 4007   

 
with accessories 

With round flange boreholes 

855 407 366 

893 407 365 A    4006 4008   With round flange boreholes 893 407 366 A 

855 407 365 with accessories 

With round flange boreholes 

 

 
 4009    

 
  

893 407 365 B with accessories 

With oval flange boreholes 

 

 
 4224 4225   

 
with accessories 

With oval flange boreholes 

893 407 366 B 

893 407 181    2011 2011    893 407 181 

893 505 389 Suspension Rod   5016 5016   Suspension Rod 893 505 389 

857 505 365 with accessories   4005 4005   with accessories 857 505 365 

893 501 499 A Control Arm   1022 1022   Control Arm 893 501 499 A 

893 501 499 B Control Arm   1023 1023   Control Arm 893 501 499 B 

811 407 181    2009 2009    811 407 181 

857 407 181    2010 2010    857 407 181 
 

11005 11006 
 
 

11004                                                                                                                                              11004 

 

5015 5015 
 
 
 

3022 3022 

 
 
 

 4007 

80 / 90 (81, 85, B2) - 



AUDI 
 

 
 

 
 

4006 4008 

 
 
 
 

4224 4225 

 
 

 

2011 2011 

 
 

5016    
                                               

   5016 

 
4005 4005 

 
 
 

1022 1022 
 
 
 

1023 1023 
 
 
 

2009 2009 

 

 

 
 

2010 2010 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

80 / 90 (89, 89Q, 8A, B3) 06.1986 - 10.1991 



AUDI 
 

 
80 Avant (8C, B4)       09.1991 - 01.1996 

OEM Info F / R Type   Type F/ R Info OEM 

811 419 801 E Adjustable   11005 11006   Adjustable 893 419 802 

811 419 802 K    11004 11004    811 419 802 K 

893 407 465 Suspension Rod 

Replace in pairs only: 

 

 
 5015 5015   

 
Suspension Rod 

Replace in pairs only: 

893 407 465 

811 419 812 A Inner Thread: M14x1,5 mm 

with right-hand thread 

 

 
 3022 3022   

 
Inner Thread: M14x1,5 mm 

with right-hand thread 

811 419 812 A 

893 407 365 B with accessories 

With oval flange boreholes 

 

 
 4224 4225   

 
with accessories 

With oval flange boreholes 

893 407 366 B 

895 407 365 A with accessories   4012 4226   with accessories 895 407 366 A 

895 407 147 A Control Arm 

without ball joint, with rubber 

mounting 

only with: 10053 

Sheet Steel 

 

 
 

 

  

 
1025 

 

 
1026 

  

 
 

 

Control Arm 

without ball joint, with rubber 

mounting 

only with: 10054 

Sheet Steel 

895 407 148 A 

893 407 181    2011 2011    893 407 181 

8A0 511 247 B Mounting Type: Rubber-metal 

Bearing 

for control arm 

 

 
  

2012 
 

2012 
  

 
Mounting Type: Rubber-metal 

Bearing 

for control arm 

8A0 511 247 B 

8A0 505 465 C Suspension Rod 

Steel 

Replace in pairs only: 

 

 
  

5017 
 

5018 
  

 
Suspension Rod 

Steel 

Replace in pairs only: 

8A0 505 466 C 

8A0 501 530 B Control Arm   1024 1024   Control Arm 8A0 501 530 B 

857 407 181    2010 2010    857 407 181 

443 511 523 B    2388 2388    443 511 523 B 



AUDI 

 

 AUDI 

80 Avant (8C, B4) 09.1991 - 01.1996 

 
 

 

11005 

 
 
 

11006 

11004         11004 

 

5015 

 

5015 

 

3022 

 

3022 

 

4224 

 

4225 

 

4012 

 

4226 

 



 

 
 

 

 

1025 1026 
 
 
 

2011 2011 
 
 
 

2012 2012 

 
 

 

5017 5018 
 
 

1024    
                                               

   1024 

 
2010 2010 

 
 
 

2388 2388 

80 Avant (8C, B4) 09.1991 - 01.1996 


